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Until it will be ruined for a craftsman’s work - 12187 nax>»» nRRR 7Y

Overview

The X713 cites a dispute to what extent does the fire have to consume the wood so
we can leave it on for n2w. X>>1 " ruled 12IR7 NAXRYAA PV DOWSW 7Y, and P2 070 M
717°n2 ruled so that the fire will take hold of both sides of the wood. mo01n clarifies
their argument.'
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However according to the one who maintains 977X S1@2»n 9INT MIIRAWY it is not
ruined through this from a craftsman’s work; it can still be used —

mooin replies to an anticipated difficulty:
= NANINY NIYN YNRN NYIN PMYP %Y NN 225097 23 Yy Ny

And even though it is written, ‘the fire consumed both sides will it be fit for

any work’, which is seemingly the same as 1"9. m9on replies -
$PIIND NINDNM N9NN2 9 Y PHNYI PN DINY INY DAN 1957 \Y 23) 199N

That is by a grapevine (whose vines are thin), however by other trees they are

not so quickly ruined from 3287 nNoRY2 like a grapevine, by just having the fire
consume both its sides.

Summary
TR NORYMAN nnww is further along being burnt than 177X "2 WK NN,

Thinking it over
How can 2"2°7 derive from 19377 y¥ that if 177X '2n y¥7 Rkn that this 1s sufficient,

since the 1937 vV burns very easily?
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We will return to you
DaWT NINOXS

' Seemingly 72 Nax9nn NAWNW 7Y is the most it can be burnt. How is 2"2 "9 arguing with 11" since according to *"1
2"2 when it is P77% 21w YY7 IARN it is also 7R 17¥1; it cannot be used anymore. What is their argument.
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